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Which is the odd one out and why? 



13           12           19            14
1 +          3 +          2 +            3 +

They are addition using column addition. 
Can you work out the answers?

What sort of calculations are these?



• Say all pairs of numbers which make 10.

0 + ? = 10                                              6 +

1 + ? = 10                                             7 +

2 + ? = 10                                             8 +

3 +                                                         9 +

4 +                                                        10 +

5 +



• Add 43 and 7.
•500

• Take away 1 from 51.
•50

•What is 10 + 10 + 10 + 10 + 10? 
•50

• What is 1 more than 49?
•50

• What do you notice about the answers?








